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SA - 1

1 10 10

 - I 2 8 16

 - II 3 10 30

4 6 24

34 80

 SA - I

MCQ SA (I) SA (II) LA Total

2 (2) 1 (2) 2 (6) – 5 (10)

2 (2) 2 (4) 2 (6) 2 (8) 8 (20)

1 (1) 2 (4) 2 (6) 1 (4) 6 (15)

4 (4) 1 (2) 2 (6) 2 (8) 9 (20)

1 (1) 2 (4) 2 (6) 1 (4) 6 (15)

10 (10) 8 (16) 10 (30) 6 (24) 34 (80)
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X (SA - 1)

Time Allowed : 3½ hours Maximum Marks : 80

1.

2. 34 A, B, C D 

A 10 1 B 8 

2 C 10 3 D 6 

4 

3. A 1 10 1 

4. 2 3 

4 

5.

SECTION A

1 10

1. ABC  A = 90° tan B . tan C 

(a) tan B (b) tan C

(c) 0 (d) 1
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2.  x = yq + r,  x  y 

(a) 0  r < y (b) 0  r  y

(c) 0 < r < y (d) 0  r  y

3.  2, 4, 6, 8, 10, x, 14, 16  a x 

(a) 10 (b) 11

(c) 12 (d) 13

4. y = ax2 + bx + c x-

(a) b2 – 4ac = 0 (b) b2 – 4ac > 0

(c) b2 – 4ac < 0 (d) b2 – 4ac  0

5. 5 tan  – 4 = 0 
  

  

5 sin 4 cos
5 sin 4 cos

(a)
5
3 (b)

5
6

(c) 0 (d)
1
6

6.

10–20 20–30 30–40 40–50 50–60 60–70 70–80

3 5 8 10 9 4 3

(a) 70–80 (b) 40–50

(c) 50–60 (d) 30–40

7. 5 –2 

(a) x2 – 5x – 2 (b) x2 + 5x – 2

(c) x2 + 2x – 5 (d) x2 + 2x + 5
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8.

(a)  = 2  – 3 

(b)  = 2  – 

(c)  = 3  + 2 

(d)  = 3  – 2 

9. y-   1
2 3
x y

(a) (0, 2) (b) (2, 0)

(c) (0, 3) (d) (3, 0)

10. x = tan 2° × tan 36° × tan 54° × tan 88°  x 

(a) 45° (b) 1

(c) 2 (d) 90°

SECTION B

11 18 2

11. 90 144

12.

x : 12 16 20 24 28 32

f : 5 7 8 5 3 2

13. ABC D  AB  DE || BC AC E 

 
1

.
2

AE AC
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 ABC ~ DEF, BC = 5 , EF = 4  (ABC) = 75 2 

(DEF) 

14.   f(x) = x2 – px + q 
 

3 3
1 1

15.

0–10 10–20 20–30 30–40 40–50 50–60

5 8 12 10 7 4

16.

 
     

2sin 54
3 2 tan 14 tan 30 tan 76 .

cos 36

17. p 

y – 2x – 5 = 0

px = 2y 

18.   


1
tan 2,

tan
2

2
1

tan
tan

 


.

SECTION C

19 28 3

19 x – y + 1 = 0 3x + 2y – 12 = 0 x-

20.


1
5 2 3
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5 2

21. ABC, C = 90°  CA  CB P  Q 

AQ2 + BP2 = AB2 + PQ2

22. DE || BC. x 

A

ED

CB

48

x – 4
3x

 –
 1

9

D C

BA

O

3 x – 5

x – 3
3x – 19

ABCD x 

23. x y 

   
 

 

1 12 1
22 2 3 7 3 2x y x y

7 4
2, 2 3 0, 3 2 0

2 3 3 2
     

 
x y x y

x y x y
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24.  2x4 – 3x3 – 3x2 + 6x – 2    2 2x x   

25.

  


 

cot cosec 1 1 cos
cot cosec 1 sin

A A A
A A A

 2 sec2 – sec4 – 2 cosec2 + cosec4 = cot4  – tan4

26.  
1

sin
10

M

1/3 b

AB

C

Q

b

27. sin 30° 

28. ABC AB, AC AD PQR 

PQ, PR PM ABC ~

PQR

SECTION D

29 34 4 

29. 5q, 5q + 1, 5q + 4 

q 
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30.

15 

396 

3 

2 

 5100 

 300 

2 

31.  ABC   tan (A + B – C) = 1  sec (B + C

– A) = 2  A, B  C 

32. 28.5 x y 

0–10 10–20 20–30 30–40 40–50 50–60 Total

5 x 20 15 y 5 60

33.

100-110 110–120 120–130 130–140 140–150 150–160 160-170

4 6 20 32 33 8 2

34.

1. d 2. a

3. c 4. b

5. c 6. b
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7. d 8. d

9. c 10. b

11.  = 18,  = 720 12. 20

13. 48 2 14. 
3

3
3 abc b

a

16. 
2

3
3

17. p  4

18. 2

19. (2, 3), (–1, 0), (4, 0)

22. x = 11  x = 8,  x = 9

23. x = 2, y = 1

24. (2x – 1) (x – 1)

30. 672    [  800,  900]  1800

31. A = 60°, B = 52.5°, C = 67.5°

32. x = 8, y = 7

33. 140.9


